



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{6}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{6}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{3} = \frac{22}{9} = 2\frac{4}{9}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \frac{9}{4} = 2\frac{1}{4}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{4} = \left(-\frac{23}{36}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{2}{5} = \frac{43}{5} = 8\frac{3}{5}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{2}{5} = \frac{117}{20} = 5\frac{17}{20}$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) = \frac{1}{3}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} = \frac{53}{80}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{2}{5} = \frac{117}{20} = 5\frac{17}{20}$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{6} = \frac{53}{18} = 2\frac{17}{18}$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{2} = \frac{17}{2} = 8\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) = \frac{7}{36}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = (-1)$$